SUMMATIVE ASSESSMENT - 11, 2012

Gehterd udarm - 11, 2012 $S-2022

SOCIAL SCIENCE / qmiisteh faqm
Class - X/ &Il - X

Time allowed : 3 hours Maximum
Marks : 80

fuifa au : 3 gue Jfereran
37 : 80

General Instructions :

(i)  The question paper has 36 questions in all. All questions are compulsory.

(i) Marks are indicated against each question.

(iii) Questions from serial number 1 to 16 are Multiple Choice Questions. Each
question carries one mark.

(iv) Questions from serial number 17 to 29 are 3 marks questions. Answer of
these questions should not exceed 80 words each.

(v)  Questions from serial number 30 to 34 are 4 marks questions. Answer of
these questions should not exceed 100 words each.

(vi) Question number 35 is a map question of 2 marks from History and
Question number 36 is a map question of 3 marks from Geography only.

After completion, attach both the maps inside your answer book.

arr= fdar

(i) ZH U U H 5o 36 ¥ B | T R e T

(i) W W % WA STk b fore gu |

(iii) U9 ShHH 19 16 T Tgfahedd Y¥ & | Tk T 1 3{eh HI T |

(iv) W % 17 9 29 Tk Tk U 3 3feh 1 ¢ TIH I Yk YT I 3K 80 IT=al o
ek &l BT =fey |

Page 2 of 12



1.A

1.B

2.A

(v) % AT 30 ¥ 34 T T U 4 ek 1 | TAH ° T U A1 SW 120 el
feren el g1 =ey |

(vi) % AT 35 kA Siaerd AT Greeel 2 3ish %1 U9 7 SR % A% 36 hod
Jiel & A graedt 3 3feh 1 Uv §1 A W SW forad % AR g e ST S|
GREIRT oh 3T TG R 1Y I |

Which one of the following assertion is NOT true about the liberal nationalists of

Europe?

(@)  They stood for freedom for the individuals and equality of all before the law.

b)  They emphasised the concept of government by the consent of the people.

c)  They supported the universal suffrage and denied the right to private property.

d) They stood for the freedom of markets and abolition of state-imposed restriction
on the movement of goods and capital.

U9 % ITRATET TFATE o IR § Ffaiad § § HH-91 o9 T T8 ¢ 2

(F) A ATH i TSR SR FHIA F THT FoTen! ST = o |

(@) o Toh UH HThR SR < 9 S HeAfd 9 S e

() A | AR 1 @ F3d & qe i |l & wnfice o e H T8 9|

() o AR & GRe AR <l 91 ol F SAEAIE R TF g @ T R0 6@ T
HAH U H 9

(
(
(

OR

"Go East Movement" became popular in Vietnam during the first decade of 20th century
because -

(@) vietnamese students went to Japan to acquire education and to learn Japanese
language.

the traders and businessman of Vietnam went to Japan to earn huge profit.

( the Viethamese youngmen started to go for lucrative jobs.

( the Vietnamese looked for foreign arms and helped to drive away the French for
Vietnam.

Soet Tt veel vk H, foud e § CqE Y SiR 9ell’ STIe |k g gl it

(®) fozaam faene frem wifh gen Srar 9o Te & foag smum T

(@) foaaIm o AR 1@ Sedrt s AT SAfsid i o fofe S T

(1) fouraArdt o o HIeRR (ATREE) A % e S aRy fwa

(=) foaaamh foaaam 9 wiefEal &1 s e & fag faceft o7&- @ |15g =sd
Of

Which one of the following is NOT true regarding Romanticism and National feeling in

Europe?

(@) It was a cultural movement which sought to develop a particular form of
nationalist sentiment.

(b)  The romantic artists and poets generally did not criticized the glorification of
science and reasons.

(

aes
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2.B

(c)  Itfocused on emotions and mystical feelings.
(d) Its effort was to create a sense of collective heritage.

09 H TAMT FHown iR UEE wieeT & Hey H frefated § 9 wF-91 e g 18 #?

(%) I8 Ueh HiEhide ST o1 S Teh @TH TG i AP HISHT 1 Toehtd hiT Fmedl o |

(W) SAMAR T THHT hehRl IR ol 7 qeh-Taae iR fagm & afedamea &1 Ae=m
T Tl

() 9 SRl IR WA qETRi W SR <A 9

(%) k1 9T o1 b U Wren-Hrfeeh fortrad i STfd s S|

OR
A Vietnamese girl in Saigon Native Girls School refused to move to a back bench
because -
(@)  she felt, she was a bright and smart student.
(b)  she was hard hearing and unable to enjoy class.
(c)  she protested the racial discrimination adopted by the Colonial Government.
(d) all the above causes were there.

e e Ted Whel | Tk faardam] eresh! fuselt wdRk § S 9 971 e fean swiifer :-
(%) 3 Tegd g7 o 9% a5 v e fomneff 21

(@) o8 a1 Garel ot 3R el | o7 33H | e off |

(1) 3T SAfTafieR SRR g1 ST TR 9 it forie fomam

(7)) SWE 9t &R

Which one of the following statements is NOT true regarding impact of the First World
War on India?

(@)  Customs duties were raised and income tax introduced.

(b)  The prices increased leading to extreme hardship for common people.

(¢)  The industrial production in India decreased.

(d)  The forced recruitment in rural area for defence forces was introduced.

IRd § gy favagg & gara & dey § fr=fafea § @ oF-u1 wom g @
T2

(%) ©HT 3ok Sel T T 3R 3Tt I fopa T

(@) Id a¢ T S8k R 378 M i Gi¥ehad 9¢ T8 of |

() 9Rd H TN IcaeA # fivee ong |

(=) Tiia B famfedt o Stea ot foma T

Which one of the following is the most appropriate reason to start Nation wide

Satyagraha against the Rowlett Act of 1919 ?

(@)  This Act was hurriedly passed by imperial legislative council.

b)  The Act was passed dispite the united opposition of the Indian members

c) It gave enormous powers to the British government to repress political activities.

d) It was an unjust law as it allowed the detention of political prisoners without trial
for two years.

1919 H FEIIfd Uole TR & fae® T qgeardt e IR i 6l G ST HRUI

(
(
(
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frefafed & 9 &F «1?

(%) 39 HIA hl THIREA dfsrifea wRfdd 3 dgd sfegarsit § 9iid = foam o

(@) HRAE 5= o R foiy o ers]e 39 Shid & 9IRkd fhra |

(1) 39 A o S ToIfee TThR 1 TSI TidfaieEi b e o1 e sAfashi faan
™

(F) 9% U TEYY A o 9 qsifae Shicdl ®i @ 9 qek for g =ee Sid

¥ sig T 1 AR et T
Which one of the following minerals belongs to the non-ferrous category?
(@) IronOre (b) Manganese (c)  Cobalt (d) Copper
frfafed § 9 ®F-w1 @i s 907 & siata s e ?
(F) Tie—3Ta&h (@) s (1) e (=) dfen

Kodarma-Gaya-Hazaribagh belt of Bihar-Jharkhand is the leading producer of which
one of the following minerals?

(a)  Bauxite (b) Mica (c) Ironore (d) Copper
fIeR-AET &1 RIem-Ta-gsien U frafafaa § 9 foeg afie o1 ol Sares § 2
(/) dioumEe (@) A9® (1) lR-3TTEn (7) e

Which one of the following agencies markets steel for the public sector plants?

(@) HAIL (b) SAIL (c)  TATA steel (d) MNCC
frefafiad 9 SiA-9) w&id g 85 % ©id o1 9eR § STere HUd § ?

(%) BA (HAIL) (@) ¥a (SAIL) (1) @@ (¥) TH . L
Which one of the following groups of cities is connected by National Highway No. 2 ?
(@)  Delhi- Amritsar (b)  Delhi - Mumbai

(c)  Delhi - Kolkata (d)  Varanasi - KanniyaKumari

frefafea o 9 for el 1 T T Toml E. 2 W SR gen § 2

(%) feeei-smaeR (@) feoei-gei

(1) fooel — SicTehm (F1) IR - HEAHET
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10.

11.

Which one of the following features distinguishes a Pressure group from a Political

Party ?

(@)  Political Parties take political stances, while pressure group do not bother about
political issues.

(b)  Pressure group do not seek to mobilise people, while political parties do.

(c)  The Pressure groups do not aim to directly control or share political power while
political parties do.

(d)  The Pressure groups are confined to a few people or few section of socieity, while
Political Parties are related to a greater area and issues.

frafafed § | SE-H faRd Sema-wg F1 TeHifoR g0 § ST L o 7

(F) TSI S0 TSHITTeR 987 od © STelfeh QalTe-Teg ST e Tl ohi feal 98l ohid |
(@) TeE-HE NI i ATHEGT 781 hid STalieh T el HLd @ |

() ToNS-THE Al § A& SAHT =6 STfeh Tstifaeh <o 9l gifdel S 9med € |

() TAE-TYE TS AN Tk B HHd B & STk TSIqeh o ol Q& S91&] @rli - @@
e g el

Which one of the following is the main feature of Bolivia's struggle?
(@)  About one specific policy of Democratic government.

(b) Itinvolved people's claim on elected democratic government.
(c) It was about the foundation of country's politics.

(d) Itaimed at restoring democracy in the country.

Siferfeen # e w0t g fasar frfafea § @ fF-d@t 82

() i TR I Tk fo9my Aifq & o + |

(@) 98 fraifad cidils TR | S % g9 1 Ta1fed i |
(1) <9 Rt TSI T T o SR H |

(%) <9 H AR i YA R SR H |

Which one of the following is the criteria to recognise as a National Political Party in

India?

(@) A party that secure atleast 6% vote in Lok Sabha elections and atleast 4 seats in
Lok Sabha.

(b) 6% votes in assembly election in four states.

(c) 6% votes in Lok Sabha or Assembly election in four states and 4 seats in Lok
Sabha.

(d)  All the criterias are correct.

freferfiad o 9 SiF-91 Aride wRa § UEE TeHITGew g & fag i e mn g2

(F) STR FE TRl ARIN-TAE H Fdl IS I 1 HH  FH 6% T3 AhdHl IAE § HH
Y HH 4 Hie T S g HIT B |

(@) =R T o a9 996 g9 H g€ e diel &1 6% |

(TT) ARG ET TR T % faUH 99 gAE B U FA 9@l $1 6% T Alhad H 4

e W Sd TS R

(%) IWE bt ArIge |
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12.

13.

14.

15.

16.

Which one of the following situations represents the success of democracy?

(@)  U.S. as the only Super power disregards the UN and takes unilateral action.

(b)  General Pinochet government defeated, but army is still under control of many
institutions.

(c)  The King of Nepal Birendra accepted constitutional Monarchy.

(d) Integration of French speaking and Dutch speaking people in Belgium.

frfafaa o @ - afifeafa <ehds = Thctar &1 wiaffe i § 2

(F) THAS HeRI6 AURIHI, T TF i TRATE T Hiam 3T Thalhl el FHidl & |
(@) e foRT st TehR I B BR T2 Alfehe oT-eh Geensii W a7eft off 1 1 ool T
(1) S9Te 1 eT foig Gaenfaes Tstas i iR e fean)

(7)) <fesm | % 9t e 9 9T Anl ok S g0

Which one of the following terms is not included against Loans?

(@) Interestrate (b)  Collateral

()  Documentation (d) Lender's land.
frefafed & 9 sF-Ht wd, o1 &1 wd 9 wfnfad 7@ €2
(F) AN (@) FOMER

(1)  3TETFh HETS (%)  SYRSH sl qfH

What is the main source of income for banks ?

(@) Interest on loans.

(b)  Interest on deposits.

(c)  Difference between the interest charged on borrowers and depositors.
(d)  None of these.

St T AT 1 Y& G T 2

(F) & WAN

(@) SHI RN

() YR T ol TS STHT hid o] UTeehi & SATST Skl 3l |

(%) 9 | E T |

Removing barriers or restrictions set by the government is called -
(@) Liberalisation (b) Investment

(c)  Favourable trade (d)  Freetrade

TR G ST s1era Hfqeell i g2 i Ui Feand ¢ -

(F) SIRIH (@) Frew

(77) 3T AUR (%) Hh AR

For which of these products does it become mandatory for the producer to get certified?
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(@)  Fruits (b)  Telephones

() LPG Cylinders (d) Cigarettes
frefafed & @ o awgstl o Screa o fau o7 sfemd g ® fo Scaes deifa greql 9
THTIT T b 2
(%) ™ (@) edrer
() ua. @ S fafded (7)) fame
17 A.  Describe any three steps taken by French revolutionaries to create a sense of collective 3x1=3

identity among the French People?
I shifshal gr Se@ MY fehell i el 1 aui aifery fod it «n § ww
Grfeeh T8 hi a1 U9 Hehl ?

OR/ 3gdar

17 B.  Describe any three effects of U.S.-Vietnam war on life within U. S. itself. 3x1=3
foraam-3maRert Ig 1 sHfen § RN & S W ge-ar fa=l o qumEl sl auiH hifaw

18. When and where Khilafat Committee was formed? What was its objective? 1+1+1=3

farTha HHET Y TATIAT el TR el At ? TR A ST -7 o1 2

19. Which are the potential sources of biogas? State any four benefits of biogas. 1+2=3
AR 1 F €Id 1 & 7 I & foh=dl 9’ o &1 Jaiey |

20. Why is there a tendency for the sugar mills to concentrate in southern states of India in 3x1=3
recent years? Give three reasons.
e 3o aul § wra o =1 faell = fyor sl # Swied 21 #1 ygfa & o wro € 2 fe
<t Sl <Rl SIfSTT |

21. How do industry pollute the environment? Explain with three examples. 3x1=3

I ford TR TTaRe ol Ufid Hid § 7 T SNl ot T8 Sifse |

22. How do the pressure groups and movements exert their influence on democratic 3x1=3
politics? Explain any three ways.

TIE-TUE SR AT SARdifAh TSI W hY T Sle ¢ 2 fh=l i el &1 =men

I |

23. How does democracy accommodate social diversities? Explain any three ways.
drend for feafrall o wrfses fafaumel & anis wonfq e 82 sl o ol &1 3x1=3
AT hITT |

24. Inspite of the fact that democracies have failed to produce accountable and responsive 3x1=3

government, why is it that democracy is a preferred system of Government? Explain
any three reasons.

TEq Ahas SR, THeaR 3R 94 TR & T3 # 3Tha W 8 fR oft a1 dishdifses
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25.

26.

27.

28.

29.

30 A.

30 B.

31.

32.

I AL <kl & 1 TG hid © 2 fohel I hIROl ohi ST HifSTT |

Explain three foundational challenges faced by democracies.

AR TR TfSd i o TeTu STedt it STER oM &1 o9 FAIfa i SRe Hifsg |

"Information and communication technology has played a major role in spreading out
production of services across countries." Support the statement with suitable examples.

" g T AR SRt 3 fafie w6 st Sanell % ST & TER | ge yftre frareh
g1 YYD STV T HUA i ¥ HifST |

In recent years China has been importing steel from India. Explain how the import of
steel by China will affect :

(i)  Steel companies in China.

(if)  Steel companies in India.

(iif) Industries buying steel for production of other industrial goods in China.

T & Fuf B S IRG ¥ SO 3T R @ E | R R TR =N R SO T ST
T haM -

(%) <9 % 39T HUEl |

(@) 9Rd ! ST hUl i |

(1) = H o Tenfiter axgei o 3caed & fu seaa B’ie Al SRl |

Explain the three measures adopted by the government to protect the interests of
consumers in India.

ORd H SUHHT & fedi ki &7 & fIu ThR g0 AN T foh=gi = SUT™l shi STEA hifeiy |

Explain any three ways by which people are exploited in the market.

IR H USRS o IM99T o fohal dF aliehl ohl AT IS |

What is meant by Balkan? Why did it turn into perennial source of tension and proved
the battlefield of First World War?

Mok 1 1 Y ¥ 2 fFE TR 98 &F TR o 1 & 99 T 991 Yo favd g5 & fag
TOTE I AT ?

OR / 3tdt
Who was Ho Chi Minh ? State his contribution in the freedom movement of Vietnam.

& =t firg S o1 ? foaa ™ & Tdsan i Sk d S ANTEHI i SIaigy |

Explain any four limitations of Civil Disobidience Movement of 1930.

1930 & HfaTg 316 AR & Tl IR Tl sl SAReA hifoid |

How have roadways an edge over railways in India? Explain four facts.

IRd H e URded fFT TR Yo Iiaed &1 e7en sifye gfaume ©2 fhl 9r q=i &t
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33.

34.

35.

AT I |

"Political parties are rightly called the government in disguise. Justify the statement in
reference to democratic politics by giving four arguments.

“ iR SEl Sl TRRR 1 GO0 Y GHE S 8 1! @Rhditeh TSI % GeY H 9R 7@
SR HYA I wrefeRal fiag IS

In what ways, the Reserve Bank of India supervise the functioning of banks? Why is it
necessary?

AR TTe sioh fore YehR Skl 1 HEYUMET 9 TSR T&d1 § ? I8 AEIH i & ?

Two features (A) and (B) are marked in the given Political outline map of India. Identify
these features with the help of following information and write their correct names on
the lines marked in the map.

A.  The place from where the movement of Indigo planters was started.

B.  The place where session of Indian National Congress was held in December 1920.

IRd & feu gu TeHifae e aHfad ) A iR B <1 @iemn fagia fe gu €1 e & 1 S
& STUR 9 39 AT k! YA hifoe 991 A | fafed Wl W 37 9al 7™ fafew)

A - I8 A SRl A R STe TR ge |
B - % %M vl feHwr 1920 H WRdTE TEH Hi o1 SATUEE gIm ol
OR / 3{raT

Locate and lable the following items with appropriate symbols on the same map.
(i)  Amritsar (i)  Bardoli
3 an qefas w fr=fafaa w1 Suga d9dal g geisy i S fafan)

() ST (i) SRE

Note : The following questions are for the BLIND CANDIDATES only, in lieu of
Q. No. 35.

(35.1) Name the place where Gandhiji led cotton mill workers
Satyagraha.

(35.2) Name the place where Congress Session was held in Dec. 1920.

e - fefafea v hae gt udenfefr & faw we der 35 & e | T

35.1 3G T HT TH AT S WS F Yol T R@H ANl & GAUE
g ToRan o)

35.2 SE T 1 AT SEY STl 66w 1920 § il i STTuaee gat o1 ?
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36.

Three features (A), (B) and (C) are marked in the given political outline map of India. 3x1=3
Identify these features with the help of the following information and write their correct
names on the lines marked in the map.

A - Coal mine
B - Iron and Steel Plant
C - The terminal station of East-West Corridor.

A & fIU gU SHifad W@ qmfes WA, B 3R C 9 e fafed g g €1 fR w8 3x1=3
AR o SR W 37 @800 bl Y8 hifsT qer A== § fafgd Y@mell © 9 98t 7

fefaa |
A - &EAR EH
B - TR UH S A
c - geft—afy=ret feram 1 ifan weH
OR / 31gar
Locate and label the following items on the same map with appropriate symbols; 3x1=3
(i)  Tuticorin - Thermal Power Station
(i) Srinagar @ - Silk Textile Centre
(iii) RajaSansi - International Airport
34T Y AHfeA W fEfafEad o Swe Gehdl g Swis 3R 3 fafE |
() ARG A e e
(i) R S & or s
(i) TSTHE FRIPH g a7
Note : The following questions are for the BLIND CANDIDATES only in lieu of
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Q. No. 36.
(36.1) Name the Iron ans Steel plant of Andhra Pradesh.
(36.2) Name the westernmost terminal station of East - West corridor.
(36.3) In which state is the Raja Sansi International Airport located?

e ; fr=fafea g Faa givanfua adenfi & faw wwe 9en 36 & e W E |
36.1 AR e Agl-3Ead HI= &1 A JAdRT |

36.2 Ye-dry=rHt AR 1 A=l €IE F AH s |

363 UST Hid SHRIFH garE aaq ford Toa o erafieq @2

T
o [ L n'i_c*—u-"‘-\ 76" 80"

84 o o 9" 100" 104

"~

36.

-00o0-

1+1+1=3
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